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10. Previous Answers LarTrig10 1.8.011. (3882273)

Saturday, Sep 17,
Im sturggling 1o find the angle A and B. | did arcsin{36 08/58.16) For angle A and arccos lor angle, B

Reply Move to Answered Report C

Salve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places,
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USE UNROUNDED NUMBERS IF YOU'RE I
USING THEM TO MAKE SUBSEQUENT NS s B !
CALCULATIONS. NEVER ROUND UNTIL 2.t A=3s..°

YOU GET TO THE FINAL ANSWER. DON'T

USE ROUNDED FIGURES IN CALCULATIONS.
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| have no dea what 1o do with the minute sign

Saturday, Sep 17, 4:260M

second is 1/3600th of a degree

Raply
Quick Noles®

62 + 1860 degroes i whal you have

Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places.
B=52%18, a=134.5
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